
J

K

A

J

K

J

K

B

C

L

L

L

L

G

G

G

G

I

I

I

I

I

G

L

G

L
I

D

E

F

N

H

L

L

B L

C

L

DO IT YOURSELF WITH THE

NIJUU FOLDING 
SHELF (MEDIUM)

T H ES E  A RE  A L L  T H E  PA RTS  

I N C LU D E D  I N  T H E  BOX .

M

M

M M

M

D

E

F

N

a. Put the square tube 
insert (J) into the bottom 
of the shelf legs (A).

b. Screw-in the levelling 
feet (K) into the bottom 
of the shelf legs.

STEP 1

a. Put the square tube insert 
(J) into the bottom of the 
shelf’s side legs (B, C).

b. Screw-in the levelling feet 
(K) into the bottom of the 
shelf legs.

STEP 2

Screw-in the brackets 
(G) into the shelf’s legs.

STEP 3
Screw-in the clips (H) under 
the shelf panels (D, E, F).

STEP 4

STEP 5

Screw-in (L) the shelf’s side 
legs in to the hinge brackets.

STEP 6
Extend the shelf 
panels.

STEP 7
The shelf can now also 
be folded back in.

HAVE FUN!

STEP 8
Screw-in (M) the shelf 
panels into the brackets.

PA RTS  YO U ’ L L  N E E D

PA RTS  YO U ’ L L  N E E D
PA RTS  YO U ’ L L  N E E D

PA RTS  YO U ’ L L  N E E D

PA RTS  YO U ’ L L  N E E D PA RTS  YO U ’ L L  N E E D

A

x1

A

x1

G

x6

G

x6

O

x2

H

x6

H

x6

J

x4

J

x2

J

x2

K

x4

K

x2

K

x2

B

x1

B

x1

C

x1

C

x1

D

x1
594x268mm

D

x1
594x268mm

I

x6
M6x13

I

x6
M6x13

M

x12
st4.2x10

M

x12
st4.2x10

N

x12
st4.2x13

N

x12
st4.2x13

L

x10
M6x20

L

x4
M6x20

L

x6
M6x20

E

x1
594x296mm

E

x1
594x296mm

F

x1
594x330mm

F

x1
594x330mm

YX 6990

YXT 3090

Y-450M
V7.0

Y9
4721XYSL

4800MHz

YRZ
5000W

5F


